The following is an example of a run of the Red Black tree program.
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350 51-1  56-1  95-8 96-1 97-0  132-8  194-1
249-1 289-1 299-8 320-1 352-0 359-1 385-1 394-8

439-8  466-0  477-1 527-0 548-1 624-B  635-1  663-8
723-1  748-0 784-1 788-0 797-1 828-9 880-0 923-1

9596 132 194 97 56
382 320 289 245 394 385 428
477 624 635 700 663 548 439
828 797 923 880 784 704 359

to continue . . .




The first group shows the numbers that were inserted. The second is the inorder traversal (including the color of each node, 1 is black, 0 is red) and the third group is the postorder traversal. As a learning tool, reconstruct this Red Black Tree and check that it is in compliance with the definition. Also, insert the same numbers into a binary search tree and compare the depth of both trees.

